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6 7 8 9 10 11 12 1 2 3 4 5
30.0 0.0 0.0 ] 80.0 | 80.0 | 76.0 | 45.0 | 20.0 | 12.5 | 17.5 | 30.0 | 39.0 | 430.0
10 0 0 20 20 20 15 8 5 7 12 13 130
1,000 0 0 {2,000 |2,000 |2,000 [1,500 800 500 700 {1,200 {1,300 {13,000
CPUE 30.0 0.0 0.0 ] 40.0 | 40.0 | 38.0 | 30.0 | 25.0 | 25.0 | 25.0 | 25.0 | 30.0 33.1
0.041 10.000 |0.000 |0.110 {0.110 |0.104 [0.062 |0.027 |0.017 |0.024 |0.041 |0.054 | 0.590
9 10 0.041 10.000 |0.000 |0.055 |0.110 |0.104 [0.062 |0.027 |0.017 |0.024 |0.041 |0.054 | 0.535
6 10 0.000 ]0.000 |0.000 |0.110 {0.110 |0.104 [0.062 |0.027 |0.017 |0.024 |0.041 |0.054 | 0.549
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